Participant ID:

Difficulty of the test
1) I found the test: easy — moderately difficult — difficult
I found the tasks focused on hypsometric tints: easy — moderately difficult- difficult
I found the tasks focused on topography: easy — moderately difficult— difficult
I found the tasks focused on graphic scale: easy — moderately difficult— difficult
I found the tasks focused on coordinate grid: easy — moderately difficult— difficult

2) How and why did the task demand affect the difficulty of the tasks (hypsometric tints, topography/symbols,
distance/graphic scale a cardinal direction/coordinate grid)?

Incorrectly solved tasks

If you answered incorrectly any of the tasks, look at the given task(s) in the assignment sheet, please. Write what in
your opinion caused the error. You may find the map helpful in finding the cause of the error. If you had more than
one incorrect answer, please write the code of the incorrectly solved task stated on the assignment sheet so that we
know which incorrect answer you were explaining.

Working with individual elements

Each task can be divided into several elements (see figure below).

| Ktera vodni plocha se nachazi v nejnizsi nadmofské vysce? | TASK HYPSOMETRIC TINTS
kove stupné
i ﬂ T‘}I:'JJ:.'., ' ﬂ "" R : T n SRR a """ LA R 24 ;j vodni plocha o pevrind (m]
.!J: e AL (R0 CDIOVICE, E vodni tok = 5000
:”‘_ hdostice Centice | . vodopid o0
H 2Zimif Ko Vel g '} narodni park [ | Lo
Hra ki v a™ d's\k é ) A £ feleznice P
: e Wy p dlnice
31 ¥ i it 5 Velebof saliny] lzew'-f.' H 00
E /) e s (S Sfep - B silnice 500
Y J E SIS uT fedice M '{";" vyikovy bod [m] 200
H # Walovice - 8 ' . Ll
- %< MAPFACE qm
9 [ Vitice 'S CAD stat
i P \ Al frosmy, s |A ey ot nifina, pinev
B v ) = < Bubnoy ! Ploukonice & |« L} vodni tok, vodni plochal
: sebng” s ¢+ e/d o o i S 1 e LEGEND
be: : ! 3
1 Ochioz Sobkovice . 1 | sidia [pocet obyvatel] I
E ‘ ¢ w;:::mm Polorh E Avignon 100001 - 500 000
F oo Topol ¥ + | Saintes 25000 - 100 000
:37', Vichy méné nei 25 000
L e e e intravién
COORDINATE GRID .-~
I a) VIEi jezero b) Matné jezero c) Cakovské jezero l 0 100 200 km
POSSIBLE ANSWERS GRAPHIC SCALE

1) Circle the element(s) that you did not work with during the test and explain why.

task assignment map face legend hypsometric tints coordinate grid graphic scale

2) Circle the element(s) that you used only for some tasks. Write for which task demand you did/did not use it/them
and fill in reasons why.

task assignment map face legend hypsometric tints coordinate grid graphic scale

3) Circle the element(s) you had to return to during the solution of the problem. Write why it was necessary to return
to it/them and whether the task demand or the map influenced this.

task assignment map face legend hypsometric tints coordinate grid graphic scale

4) Have you always read all the available answers? Why?/Why not?



Task solving procedure

Each person can choose a different way of working with the individual elements. For the following questions, draw up
a diagram (see example below) for each task demand.

TASK POSSIBLE MAP GRAPHIC MAP
ASSIGNMENT// ANSWERS LEGEND SCALE FACE

You can write each element only once (if you haven't used an element, don't include it, if you have used an element

more than once, write it in the diagram where you used it the first time).
Use the following elements: map face; possible answers; map legend; graphic scale; hypsometric tints; coordinate grid.
If you proceeded in more than one way during the task solving, create diagrams for the two most used procedures.

1) Follow the example above to create a diagram of the task-solving process for the tasks focused on elevation (altitude).

2) Follow the example and create a diagram of the task-solving process for the tasks focused on topography/symbols.

3) Follow the example and create a diagram of the task-solving process for the tasks focused on scale (distance).

4) Follow the example and create a diagram of the task-solving process for the tasks focused on coordinate grid (cardinal
direction).

5) Why did the task demand (elevation vs. topography vs. scale vs. coordinate grid) affect your task-solving process?

6) How and why did your procedure changed during the test?



